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PART-TI

.. SCHOLASTIC APTI ;HDE TEST

"~ Timet 90 minutes. Marks : 90

This booklet contains questions as given below:

Question Nos. -
Subjects

From To
1. Science 91 125
2. Mathematics 126 145
3. Social Science - | 146 180

RangaRakes tamilnavarasam.com



a1,

92.

93.

94.

95.

RangaRakes

fiefiue / SCIENCE

86 Gf Juowu YsFsursHNG

ummu@gg]m@ung] &S S
flemeu & @nss G,
(0 P uile

@ Fo

@) F wpgd P é@ @eoLuisd
@ F upgih C 6@ Bl 7

emélggimens smigrefle Fiemeruflsi
erey g fsurarmd, Wibuwrer g
Ggrebritd,

M mrﬁ:&mmw’?

@ s

@ Gpmme

@) oGnfmLWTS.

500 &gmo  Hepysrer Sl
Qaiiuflsosvenis 35°C Simig 70°C 66
e wigs Qer@ssiiuL Gausrpw
QeuliusSHer  sjeme—

() 7315 g6

@ 7315 H.ge

@ 4180 538

@ 4180 H.gdn. e

Qeuiuflemsraflsafls LuSTUGSS LG
Slreutd
N eaflusrs Q‘,)lrmm
@ Oain ppeLsS
@) oarammeuiled @ULTG

oo

@ Guhewghu eysirg HeTen
Qs mevorLgy. o

@@ umpurefiflss ungresdsr  gjeray

Jfsfegoturg I8
GH&Sng.

(h e

8

@ yus
@) dgwrar sLuGlaufl
@ Cupsph ergayh Gvensv.

o1.

95.

When a concave mirror is used as
shaving mirror, the position of the face
should be—

(1) atP
(2) atF
(3) between F and P
(4) between F and C

In a pinhole camera if the size of the
pinhole is increased then the image
becomes—

(1) blurred
(2) sharp
(3) erect
(4) pointed.

The quantity of heat required to raise the
temperature of 500 gm. of water from
35°Cto 70° C is—

1) 73154

(2) 73.15kJ

(3) 41804

(4) 4.180kJ

The thermometric liquid—

(1) is opaque

(2) is a good conductor of heat

(3) does not wet to the glass

(4) with all of the above three qualities.

A rise in the mercury level of a
barometer denotes—

(1) rain

(2) storm

(3) fair weather

(4) none of the above.
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g7,

~ Which of the following statement is

wrong?

(1) fluid pressure increases with depth

(2) fluid pressure increases with
density

(3) fluid pressure exerts a force

parallel to the surface of its
container

(4) fluid pressure is the same at all
“points in a horizontal plane.

The speed of sound in water is
1500 m/s. The signal sent from a boat

- is heard as.echo after 3 seconds. Then
the depth of the sea is—

(1) 2.250 km
(2) 225m
(3) 2250 km
(4) 4500 m

When a body falls freeiy its velocity is
given by—

(1) v=u+at

(2) v=at

(3) yalge

@ v=gt

A fuse wire has—

(1) low resistance and low melting
point

(2) high resistance and low melting
point

(3) high resistance and high melting
point

(4) low resistance and high melting
point.

100. Nuclear forces are—

(1) attractive and charge dependent
(2) repulsive and charge dependent
(3) repulsive and charge independent

(4) attractive and charge independent.
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mmw
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101, In an uniform magnetic field the
magnetic flux are—

(1) perpendicular
(2) intersecting
(3) paraliel
{4) in any direction.
102. Which of the following is used to

estimate crop fields and detect fishing
zone?

(1) Natural sateflite

{2) Remote sensing sateliite
{(3) Arificial satellite

{4} None.of the above.

" 103. Vinegar is a dilute solution of—

(1) Hydrochioric acid
{2) Acstic acid

(3) Oxalic acid

(4) Formic acid.

104. When a bee stings, the sting is
neutralized by rubbing it with a lotion-
which contains —

{1) baking soda
{2) formic acid
{3) methyl-orange
{4) chalkk.

105. Diamonds are cocloured due to the
presence of—
{1) pigments
(2) dyes
(3) impurities
(4) none of the above.
108. Carbon is—
{1) areducing agent
{2) an Oxidising agent
(3). -insulator
(4 ametal,
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107. &) & evor LoD 6 usmswrg  107. Which of the following is a sublime

@ 67— Substance?
Mmm;s&r Upstd - : (1) lodine crystals
2 Gempuns ~ (2) Sodium
. . _ (3) Zinc granulus
R S (4) Iron filings.

@ Bowus gserser.
108. q@ sTRSLTmST a_sumg &smmm 108. When an electron jumps from higher

piLsHNGhEe GROpEs HHOM orbit to lower orbit there is
ulL PG QedognaCurg, . of energy.

SbDPETETGI— (1) emission

0 OQauefelouGdpg ) (2) absorption

@ efGenGapg 7 / {3) no change

@) wnppd wginpds e { (4) change.

@ wrHmd s_@smr@m
109. Qusin® g;mesam @mm&u Xuppts  109. Two atoms X and Y are represented by

Y, sigsr feap eow whpid ojEm their mass number and atomic number
aememem (X' upgd Y adp as X'and Y2 Which one of the
@Uﬂ@m@mﬁl &psarawuaraiphio following statement is false.

a5 Sauprar s.hp?

0 X vppd Y 6y pefllusms (1) Xand Y be!ong to the same
-1 element. :

@ Xuwhps Yl aewmismayerar (2) XandY have the same number of
G Lirehrassnen - Quibgusirerg) protons \

@) X uppd Yeasug gosmumtse

@ X upgis Yesiugl g0 L6t (3) Xand Y are isobars

(4) Xand Y are isotopes.
0. Gompuid, foén slmeryfubGurg 110, The gas evolved during the reaction of

Oeueflefind  sumy— Sodium with water is—
(0 ysabdlgsr (1) Oxygen

@ mpLygs (2) Nitrogen

@) Gempuuo fm,mmv@. (3) Sodium hydride
@ eampLygen. (4) Hydrogen.

m. Lﬁlmmrrm mmmmmwaauu@gsﬁlm 1. In e!ectro-reﬁnihg, a bar of impure
gril@bubp &TOUT SETLIATS Copper is made of—
— & Ceudubapg. (1) Cathode
srﬁ.mﬁl.m Sjwafl (2) Anode
@ Cphfisr sueh | (3) Sodium

©B) Gomgpund .

@ Qum Lréuni (4) Potassium.
LT L FEILRD,

12, SpéamrLaupfid ag o flw 112 Which  of the following s

Amgapr wrsURSH? non-biodegradable that causes
() Gemiyssr poflution?

@ LG sfiey (1) soaps

©®) Qeidigsrer (2) domestic wastes

{3) newspaper

(@ gL iGgemrL. - (4) detergents.
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143. The suicidal bags in an animal cell
are— :
(1) Mitochondria
(2) Lysosomes
(3) golgi apparatus
(4) Endoplasmic reticulum.

144. In children Vitamin D deficiency disease
i8—
(1) Beri- Beri N
(2) Night Blindness
(3) Scury
{4) Rickets.
415. Tissue found in the apices of root and
shoot is known as—
(1)  Simple tissue
(2) Meristematic tissue
(3) parenchyma
(4) Collenchyma.

116. Which one of the following lead a
parasitic mode of life— o
. {1) Ascaris lumbricoides
(2) Earth worm
(3) Cockroach
(4) Spider.

417. Fishes have

© (1) Four chambered

"~ {2) Three chambered
(3) Two chambered
(4) One chambered.

heart.

118. Which one of the following method can
be followed to prevent soil erosion?

(1) Grasses and herbs can be grown
in the soil.

(2) Repeated grazing by Animals

(3) Removal of trees

(4) Avoid building dams.

118.

is a domeshaped muscle

g;gsent beneath the lungs of human
ings.

(1) Trachea

(2) Diaphragm

(3) Liver muscle

(4) Pericardium.
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120.

121.

122.

123.

124.

125.

is the structural and functional
unit of Nervous system—
(1) Cell

(2) Axon
(3) Neuron
(4) Dendron.

Rearing of honey bees in a large scale
is known as—

(1) Sericulture
(2) Apicuiture
(3) Pisciculture
(4) Vermiculture.

Example of an edible fungus—
(1) Lepito morganii

(2) Amantia muscaria

(3) Morchella esculenta

{4) Tricholoma.

Which among the fol!owmg is not a fresh
water fish?

(1) Catla catla

(2) Labeo rohita
{3) Mackere!

(4) Cirrhina mrigala.
A bacteria responsible for the
conversion of milk into curd is—

(1) Nitrosomonas

(2) Aceto bacter

(3) Lactobacillus
(4) Streptococei.

Which one of the following statement is
true? Loss of plants result in—

(1) O, level in the atmosphere will go
down

(2) O, level will go up
(3) Co, level will be less
(4) Balance between Co, + O,
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86 Oprms aparp w_disman, ar'y
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) 5%

@ 10%

@ 15%

@ 30%

8G porsHer usssr Qpres wsh
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TBusAG wss Gsrms sTeuaieTay
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0 100,705

@ 101328

3) 96,000

@ 85,000

-

20 years at simple interest?

(1) 5%

(2) 10%
(3) 15%
(4) 30%

128. The population of a town increases at
.4% during the first year and at 5% during
the second year. At the end of the
second year, the population is 1,04,832.
What was the population at the
beginning? -

- (1) 1,00,705
(2) 1,01,328
(3) 96,000
(4) 85,000
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131.

130.

Cost price of an article is Rs. 100. The
marked price is 10% more than the cost
price. If the discount is 8%, find the
selling price.

(1) 101.20

(2) 108.40

(3) 102

4 11

The diagonal of a rectangular field is
61 m. If the length is 60 m, the area of the

~ field is—
(1) 3660 sq.m

132

133.

134.

@

(2) 915 sq.m
(3) 660sgq.m
{4) 600 sq.m

The area of the largest circle that can be
inscribed in a square of side 21cm is—
(1) 345.5 sq.cm

(2) 345 sqg.cm

(3) 346 sq.cm

(4) 346.5 sq.cm

One number is three times another. If
the larger number is subtracted from 60,
the result is 5 less than the smaller
number subtracted from 55. Find the
numbers.

(1) 5,15

(2) 10,30
(3) 15,45
20, 60

If a+b+c=10 and ab+bc+ca=21 find

‘the value of a2+ b?+¢?

(1) 100
2) 79
(3) 142
(4) 58
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135, Divide 72 into two parts so that the
larger part exceeds the smaller part by
12. Then the smaller part is—
(1) 20
(2) 32
(3) 30
(4) 42

136. In a competitive examination one gets

5 marks for every correct answer and
loses 2 marks for every wrong answer.
A person who attended 25 questions got
90 marks. Find how many questions
were correct.

(1) 10

(2) 15

(3) 20

45

In the fig. given below, lines | and m are

parallel and line n is the transversal.
fla=2x+ 1, [b=4x-1 Find x

Do

137.

> X
= Y

(1) 90°
(2) 45°
(3) 40°
(4) 30°

438. Which of the following figures have lines
of symmetry?

2 Oc=0 D

O G

(1) () and (iv)
(2) (ii) and (i)
@) 0

) )

i) (iv)
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139. Find the number of squares in the figure
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_ given below—
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(1) 13
@ 14 D4
@) 16 (316
@e L o OR
0. 21 Y'S, 9-dr uLdisrammdd Yeir wfln; 140, 121 Y 5 is a multiple of 9 the value
0 2 ' of Y ,
@ 3 M2
® 4 @ 3
@ 1 @) 4
@) 1

143.

A Bg o Branr@ uLtig
Cosurerg, B, Cg oL 3 wig
Couswmergs. 72 Ml hsefis C 10
LeTS®E (ppderd, 905 uLmTSme,
Yese Aabgeoar Fiil fsedr aBaEn?
H 218 Pubh ruseir
(2 36 i duser
@) 24 il dumer
@ 12 DO disdr.

1V° 1 (40 ‘4
141 (A7 LAV A2
, (2) *(3J ‘*(4)“*(9)

(1) 4
@) 8
(3) 81
@) 110

142, Findihe value of x

143. A s twice as fast as B, B is thrice as

fast as C. If C covers a journey in

72 minutes then in how many minutes

will A cover the journey?

(1) 216 Minutes
(2) 36 Minutes
(3) 24 Minutes
(4) 12 Minutes.
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150.

151.

152.

Rast Goftar was a—

(1) City

(2) Journal

(3) King |

(4) Social Movement.
Apartheid was practised in—
(1) South Africa

(2) Asia

(3) China

(4) Africa.

The headquarters of the French East
India Company was established in—

(1) Pondicherry
(2) Mahe

(3) Karaikal
(4) Yenam.

The Governor of M}.lltan was—

(1) Dost Mohammad
(2) Rani Jindan

(3) Mulraj

(4) Dalip Singh.

in the Medieval period of India
protected the Kings.

(1) Brahmins

(2) Kshatriyas

(3) Vaisyas

(4) Sudras.

After the expedttion of Malaya region,
Rejendra | was given this title—

(1) Gangai Kondan

(2) Madurai Kondan

(3) Kadaram Kondan

(4) Kanchi Kondan.

The book written by Krishna Devaraya
was—

(1) Amukthamalyadha
(2) Kamba Ramayanam
(3) Sivagnanapodham
(4) Mahabharatham.
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155.

was the founder of the

I(hllj! dynasty

{1) Alauddhin
(2) Jalaludhin .
(3) Nasirudhin

. {4) Qutb-ud-din.

Udaipur was the capital of—
(1) Mewar

(2) Mecca

(3) Rishikesh

(4) Hampi.

The Third battle of Panipat was fought

M},"\ the year—

156.

167.

158.

159.

(1) 1761
@) 1751
@ 1756
(4) 1780

The Judges of the Supreme Court hold
Office till the age of—

(1) 65

(2 55

(3) 45

4) 75

The States were reorganized on the
basis of languages in the year—

(1) 1947

(2) 1951

(3) 1956

(4) 1960

The headquarters of the Army is in—
(1) New Delhi

(2) Calcutta

(3) Bombay

(4) Chennai.

The Supreme Commander of all the
three forces is the —

(1) Defence Minister

(2) Prime Minister

(3) President

(4) Governor.
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At present the non-aligned movement
has member in it.

(1) 100

(2) 15

3 107

(4) 118

“Democracy is the Government of the
people, by the people and for the
people” said by—

(1) Nehru

(2) Abraham Lincoln
(3) Rajaji

(4) Lal Bahadur Shastri.

-Our National flower is—

(1) Lotus

(2) Jasmine
{3) Rose

(4) Sun flower.

The rules of Road. Regulations came
into effect from—

(1) 1989
(2) 1990
(3) 1998
(4) 1985

Indian Constitution was adopted in the
year—

(1) 1935

(2) 1950

- (3) 1947

165.

166.

(4) 1985

Direct Democracy is practised
in—

(1) Switzerland

(2) England

(3) France

(4) India

The United Nations Organisation was
established on—

(1) 24th October 1945

(2) 24th October 1954

(3) 24th October 1948

{4) 24th October 1950
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167. The age of Voting Rights was reduced
from 21 to 18 years by—
(1) Indra Gandhi
(2) Morarji Desai
(3) Rajiv Gandhi
(4) V.P. Singh.

168. The Constitution Prohibits employment
of children in hazardous jobs below the
‘age of— o
(1) 14
(2) 18
(3) 21
(4) 16

169. have small heedle like leaves.

(1) Coniferous

(2) Desert Vegetation
(3) Tundra Vegetation
(4) Temperate forest.

170. Largest desert in the world is—
(1) Thar '
(2) Sahara

(3) Gobi

(4) Kalahari.

171. Young fold Mountains are—
(1) Vindhya Mountains
(2) Satpura Mountains
(3) Himalayas
(4) Western Ghats.

172. The largest producer of Gold
is —
(1) China
(2) France

(3) Australia
(4) South Africa.

173.The major producer of Jute is—
(1) India '
(2) China
(3) Russia
(4) America.
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175..

The percentage of Nitrogen in the
atmosphere is—

(1) 21%
(2) 78%
(3) 18%
(4) 68%

The Pacific Ocean covers
the globe.

OF;
@ %
@3
@ ¥

of

176. The most populated island is—

177.

178.

(1) Falkland
(2) Patagonia
(3) Andaman
(4) Nicobar.

Most important products manufactured
by South America is—

(1) Beverages
(2) Jewellery
(3) Grains

(4) Oil seeds.

The coldest place on the Earth
is—

(1) Siberia

(2) Canada

(3). Antarctica

(4) China.
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Piants growth depends mainly

(1) Sunlight
«2) Soil

(3) Rainfall

_(4) Al the three.

____is an important tree grown in

“the temperate deciduous Forest.

}(1) Teak

(2) Oak

(3) Pine

‘,.(4) Grass.
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